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B1U5X
|58 RE¥EH K% BE | A= SATILG/A) | B LH—H(6/28) | RO LAH—F(10/11) S51)—(11/28) EEHEI3E)
1 JLob Sl 18 3 25 15 20 - 60
2 JLob B ANFE 3 - 10 15 - 25
3 &EE SR ES 3 - 20 - - 20
4 | WNTE | BF R=E 4 - 8 12 - 20
5 x5 NN 3 - 12 - - 12
6 | BT N E {EBA 4 - 6 6 - 12
7 | AMEZE | X HE 3 - 3 8 - 11
8 =5 HER thA [ 3 - - 10 - 10
9 PN e RA 1 - - 4 - 4
10 pavA) EE Hih 2 - 4 - - 4
B2U5 X
No. REH K% BE | A= SATILG/A) | B LH—H(6/28) | MO LAH—F(10/11) 51)—(11/28) EEHE3E)
1 NINTZE BX & 4 15 10 1 10 35
2 | AWNTE | M EZ 3 25 8 0 0 33
3 UM EX HN 3 - 20 - 12 32
4 JL B BRE| 4 8 - 20 - 28
5 | BETE | ELAARIE 3 - 15 12 - 27
6 &E ER & 3 - - 8 15 23
7 | AMTE| ZH XY 4 12 - - 10 22
8 JLN B= #E& 4 18 - 2 - 20
9 | hneEE | EBE XK 4 - 12 6 - 18
10 120 fE KXo 4 - - 15 - 15
11 iG] AH Xk 4 - - 10 - 10
12 | hNTE | Kk mif [H#HF4 10 - - - 10
13 JLN =F HiF 3 - 6 0 - 6
14 | AMTZE | FHI K8 3 - - 4 - 4
15 &E BE fiak 3 - 4 - - 4
16 ABX )1 TRk 4 - - 3 - 3
17 JLN i BE 2 - 3 - - 3
18 | ANEZE | T #B1E 4 - 2 - - 2
19 PN O Eh 3 - 1 - - 1
M295 X
No. REL K% BE | A= SATILG/A) | B LH—F(6/28) | O LAH—F(10/11) 51)—(11/28) EEHEI3E)
1 JLN HES M2 25 20 20 - 65
2 x5 RE MHE 4 - 10 10 8 28
3 EEITE | FH XE 4 - 15 3 - 18
4 i) =M EX 4 - 12 6 - 18
5 ABX =51 EX 4 - - 15 - 15
6 x5 GR EAER [ M2 - - 12 - 12
7 &E EHEAN | M - - 8 - 8
8 NMEE | BS BX 4 - 8 - - 8
9 &8 #HA Fih 3 - - 4 - 4
10 &E RA St M1 - - 2 - 2
AWDYS R
No. REL K% BE | F— SATIVG/A) | B LH—F(6/28) | S Lh—F(10/11) 51)—(11/28) EEHEI3E)
1 x5 AR BEB| ? 15 20 20 - 55
2 FLN AAR B 1 18 - 15 20 53
3 JE A EZ M1 25 - 12 - 37
4 | hNEZE [BEHRF—H| 4 - 15 10 - 25
SCHUSR
No. REL K% BE | F— SATIVG/A) | B LH—F(6/28) | S LA—F(10/11) 51)—(11/28) EEHEI3E)
1 JLb BEF BEiE 2 25 15 20 15 60
2 JL Ei5 A 3 12 20 15 10 47
3 Bl XA Bth 4 18 8 6 - 32
4 iG] AH KBk 4 8 10 - 12 30
5 b TEES 2 15 4 2 - 21
6 JL ZEAX #H 3 6 - 12 - 18
7 JL BHBERE| 4 - 12 - - 12
8 & fit] INE TRE 4 10 2 - - 12
9 & fit] /N Bt 3 - - 10 - 10
10 BT EICREPN 1 - - 8 - 8
11 B A 3 4 3 0 - 7
12 x5 Il $HA 2 - 0 0 6 6
13 BER LB iRt 2 - 6 - - 6
14 X5 =BH ®E 2 - - 4 0 4
15 ABX TR 2 — — 3 — 3
16 e iy =H 4 3 - - 3
17 | AMTZE | 28 hsk 2 2 - - - 2
18 AKX it fin 2 - - 1 - 1
19 ER FHEAEA| 4 - 1 - - 1




